Mathematics 325

## Exam II Summer 2006

Name: Dr. Grow

(k=1)1.(25 pts.) Solve  $u_t - u_{xx} = 0$  in  $-\infty < x < \infty$ ,  $0 < t < \infty$ , subject to  $u(x,0) = x^3$  for  $-\infty < x < \infty$ . Note: You may find useful the following formulas.

$$\int_{0}^{\infty} p e^{-p^{2}} dp = 0 = \int_{0}^{\infty} p^{3} e^{-p^{2}} dp, \quad 2 \int_{0}^{\infty} p^{2} e^{-p^{2}} dp = \sqrt{\pi} = \int_{0}^{\infty} e^{-p^{2}} dp.$$

$$\int_{0}^{\infty} \frac{e^{-\frac{(x-y)^{2}}{4t}}}{\sqrt{4t}} \int_{0}^{\infty} \frac{e^{-\frac{(x-$$

$$= \int_{-\infty}^{\infty} \frac{-p^2}{\sqrt{\pi t}} (x + p\sqrt{4t}) dp$$
(a+b)<sup>3</sup> = a<sup>3</sup> + 3a<sup>2</sup>b +

$$= \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{\pi}} (x + 3x^{2}p\sqrt{4t} + 3xp^{2}(4t) + p^{2}t\sqrt{4t}) dp$$

$$= \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{\pi}} (x + 3x^{2}p\sqrt{4t} + 3xp^{2}(4t) + p^{2}t\sqrt{4t}) dp$$

$$= x^{3} \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{\pi}} + 3x^{2}\sqrt{4t} \int_{-\infty}^{\infty} pe^{-p^{2}} \frac{dp}{\sqrt{\pi}} + 12xt \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{\pi}} + 8t\sqrt{t} \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{\pi}} \frac{dp}{\sqrt{t}} + 3x^{2}\sqrt{t} \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{t}} \frac{dp}{\sqrt{t}} + \frac{12xt}{\sqrt{t}} + \frac{12xt}{\sqrt{t}} + \frac{12xt}{$$

\* 
$$u(x,t) = x^{3} + 6xt$$
  
<sup>25</sup>
Because  $\varphi(x) = x^{3}$  is unbounded, we  
reed to checke our answer.

$$u_{t} = 6x$$
,  $u_{xx} = 6x$ ,  $u_{t} - u_{xx} = 0$   
 $u_{(x,0)} = x^{3} + 6x(0) = x^{3}$ 

2.(25 pts.) (a) State without proof the weak maximum principle for solutions to the diffusion equation.(b) Use part (a) to show that there is at most one solution to

 $u_t - u_{xx} = x(1-x)\cos^2(\pi t)$  in  $0 < x < 1, 0 < t \le 5$ ,

subject to the boundary conditions

u(0,t) = t and  $u(1,t) = 4\cos(2\pi t) - 3\sin(2\pi t)$  if  $0 \le t \le 5$ , and the initial condition

$$u(x,0) = 4(1-x)^4$$
 if  $0 \le x \le 1$ .

(a) Let 
$$u = u(x,t)$$
 be a solution to  $u_t - ku_{xx} = 0$  in  $R: 0 < x < L$ ,  $0 < t \leq T$  and  
let u be continuous on  $\overline{R}: 0 \leq x \leq L$ ,  $0 \leq t \leq T$ . Then the maximum value of  
u on  $\overline{R}$  is attained either on the initial wall (i.e.  $x=0$ ) or on the lateral  
walle (i.e.  $x=0$  or  $x=L$ ).

13 (b) Suppose that 
$$u=u_{1}(x,t)$$
 and  $u=u_{2}(x,t)$  are two solutions of the problems in  
part (b). Then  $v(x,t)=u_{1}(x,t)-u_{2}(x,t)$  is a solution of  $v_{1}-v_{xx}=0$  in  
 $R: 0 < x < 1$ ,  $0 < t \le 5$  and satisfies  $v(0,t)=0=v(1,t)$  if  $0 \le t \le 5$  and  
 $v(x,0)=0$  if  $0 \le x \le 1$ . Therefore the maximum of  $v$  on  $\overline{R}$  is zero since  
 $v$  vanishes on the initial and lateral walls. I.e.  $v(x,t) \le 0$  for all  $(x,t)$  in  
 $\overline{R}$  so  $u_{1}(x,t) \le u_{2}(x,t)$  on  $\overline{R}$ . C similar argument with  $u_{2}(x,t)-u_{1}(x,t)$  in  
place of  $u_{1}(x,t)-u_{2}(x,t)$  shows that  $u_{2}(x,t) \le u_{1}(x,t)$  on  $\overline{R}$ . It follows that  
 $u_{1}(v_{1},t)=u_{2}(x,t)$  on  $\overline{R}$ . There is at most one solution to the  
problem in part (b).

3.(25 pts.) Use Fourier transform methods to derive a formula for the solution to

$$u_n - c^2 u_{xx} = 0 \quad \text{in} \quad -\infty < x < \infty, \quad -\infty < t < \infty,$$

subject to

4

в

2

+1

73

$$u(x,0) = \phi(x)$$
 and  $u_t(x,0) = \psi(x)$  if  $-\infty < x < \infty$ .

BONUS: For 10 extra points, instead solve the inhomogeneous equation  $u_n - c^2 u_{xx} = f(x,t)$  in the xt-plane subject to the initial conditions above.

He take that transform of 
$$u_{tt} - c^2 u_{trx} = f(u,t)$$
 with respect to  $x$ , yielding  
 $f_t(u_{tt} - c^2 u_{xx})(z) = f_t(f(u,t))(z) \implies \frac{\partial^2 f(u)(z)}{\partial t^2} = f(u)(z) = \hat{f}(z,t)$   
 $\Rightarrow \frac{\partial^2 f_t(u)(z)}{\partial t^2} + c^2 z^2 f(u)(z) = \hat{f}(z,t)$ . The general solution of this inhomogeneous  $z^{ud}$  order  
 $ODE$  in the variable  $t$  (with peremeter  $\overline{z}$ ) is  $f(u(z) = \hat{u}_{x}(z,t) + \hat{u}(z,t)$  where

$$\begin{split} \hat{u}_{f_{1}}(\bar{s},t) &= c_{1}(\bar{s})\cos(s\bar{s}t) + c_{2}(\bar{s})\sin(c\bar{s}t) \text{ is the general solution of the associated homogeneous} \\ equation \quad \frac{\partial^{2} f(u_{1})(\bar{s})}{\partial t^{2}} + c_{3}^{2} \tilde{f}(u_{1})(\bar{s}) = 0 \text{ and a particular solution of the inhomogeneous} \\ equation \quad \hat{o}_{1}\bar{t}^{2} \\ equation \quad \hat{o}_{2}\bar{t}^{2} \\ \text{ is proved by variation of parameters} : \\ \hat{u}_{1}(\bar{s},t) &= v(\bar{s},t)\cos(c\bar{s}t) + w(\bar{s},t)\sin(c\bar{s}t) \\ \text{ with } v(\bar{s},t) &= \int_{0}^{1} \frac{\hat{f}(s,t)\sin(c\bar{s}\tau)\,d\tau}{c\bar{s}} \\ \text{ with } v(\bar{s},t) &= \int_{0}^{1} \frac{\hat{f}(s,t)\sin(c\bar{s}\tau)\,d\tau}{c\bar{s}} \\ \text{ (Note that the Wronskian of variation of variation of with view of the solution of the$$

$$f(u) = \int_{0}^{t} \frac{\hat{f}(s,\tau)}{c_{s}} \left[ \cos(c_{s}\tau)\sin(c_{s}t) - \sin(c_{s}\tau)\cos(c_{s}t) \right] d\tau = \int_{0}^{t} \frac{\hat{f}(s,\tau)}{c_{s}}\sin(c_{s}(t-\tau)) d\tau$$

$$and consequently,$$

$$f(u)(s) = c_{1}(s)\cos(c_{s}t) + c_{2}(s)\sin(c_{s}t) + \int_{0}^{t} \frac{\hat{f}(s,\tau)}{c_{s}}\sin(c_{s}(t-\tau)) d\tau.$$

$$Applying the initial conditions gases$$

$$c_{f(s)} = F(u)(s) = F(u(x,o))(s) = F(\varphi)(s)$$
 and  $c_{s}c_{2}(s) = F(u_{t})(s) = F(t)(s)$   
 $t = o$   
 $t = o$ 

$$J_{r}(n)(s) = J'(q)(s)con(cst) + \frac{J'(1)(s)}{cs}con(cst) + \int_{0}^{t} \frac{\hat{f}(s,\tau)}{cs}con(cs(t-\tau))d\tau.$$
(OVER)

Note we use the identities  
or 
$$(cst) = \frac{1}{2}e^{-} + \frac{1}{2}e^{-}$$
 and  $sin(cst) = \frac{1}{2i}e^{-} - \frac{1}{2i}e^{-}$   
and the towner transform formular  
 $f(g(x-a))(s) = g(s)e^{-isa}$  and  $f(\int_{-\infty}^{\infty} g(s)ds)(s) = \frac{f(s)}{is}$   
(nee the tomework marcine on Former transforme) to write  
 $f(u)(s) = \frac{1}{2}f(q)(s)e^{-} + \frac{1}{2}f(q)(s)e^{-} + \frac{1}{2}f(q)(s)e^{-} + \frac{1}{2}c^{-}(\int_{-\infty}^{\infty} f(s)ds)(s)e^{-} - \frac{1}{2c}f(\int_{-\infty}^{\infty} f(s,r)ds)(s)e^{-} + \int_{0}^{1} \left[\frac{1}{2c}f(\int_{-\infty}^{\infty} f(s,r)ds)(s) - \frac{1}{2c}f(\int_{-\infty}^{\infty} f(s,r)ds)(s)\right]dr$   
 $= \frac{1}{2}f(q(x+ct))(s) + \frac{1}{2}f(q(x-ct))(s) + \frac{1}{2c}f(\int_{-\infty}^{\infty} f(s,r)ds)(s) - \frac{1}{2c}f(\int_{-\infty}^{\infty} f(s,r)ds)(s)dr$   
 $= f(\frac{1}{2}[q(x+ct)+q(x-ct)])(s) + f(\frac{1}{2c}\int_{-\infty}^{\infty} f(s,r)ds)(s)(s)$ 

Interchanging the order of integration in the last term and using linearity of  
the Fourier transform yields  

$$f'(u)(s) = f'(\frac{1}{2}[q(x+ct)+q(x-ct)] + \frac{1}{2c}\int_{x-ct}^{y(s)} ds + \frac{1}{2c}\int_{0}^{y} f(s,\tau) ds d\tau)(s).$$

$$f(u)(s) = \frac{1}{2}[q(x+ct)+q(x-ct)] + \frac{1}{2c}\int_{x-ct}^{y(s)} ds + \frac{1}{2c}\int_{0}^{y} f(s,\tau) ds d\tau](s).$$

$$f(u)(s) = \frac{1}{2}[q(x+ct)+q(x-ct)] + \frac{1}{2c}\int_{0}^{y} f(s) ds + \frac{1}{2c}\int_{0}^{y} f(s,\tau) ds d\tau.$$

5

+10

22

``

وا

18

+7

4.(25 pts.) Consider the partial differential equation  $u_t - u_{xx} = 0$  in 0 < x < 1, 0 < t < 10, subject to the boundary conditions  $u_x(u_x) = 0 = u(1,t)$  if  $0 \le t \le 10$  and the initial condition

$$u(x,0) = 3\cos\left(\frac{\pi x}{2}\right) - 2\cos\left(\frac{5\pi x}{2}\right) \quad \text{if} \quad 0 \le x \le 1.$$

(a) Use the method of separation of variables and show ALL DETAILS of the calculation of the eigenvalues and eigenfunctions for this problem. (Note well that the boundary condition at the left endpoint is a Neumann condition and that at the right endpoint is a Dirichlet condition.)
(b) Write a formula for the solution u = u(x,t) to this problem.

BONUS: For 10 extra points, show that there is at most one solution to this problem.

(a) Consider nontrivial solutions to the homogeneous partial of this problem of the form  

$$u(x,t) = \overline{X}(x)T(t)$$
. Substituting this in the PDE gives  $\overline{X}(x)T(t) - \overline{X}''(x)T(t) = 0$   
 $\Rightarrow -\frac{T'(t)}{T(t)} = -\frac{\overline{X}''(x)}{\overline{X}(x)} = \text{constant} = \lambda$ . Substituting the functional form for  $u$  in the  
boundary conditions produces  $\begin{cases} 0 = u_x(0,t) = \overline{X}(0)T(t) \\ 0 = u(1,t) = \overline{X}(1)T(t) \end{cases}$  for all  $0 \le t \le 10$ . Since  
 $u$  is nontrivial, it follows that  $\overline{X}'(0) = 0 = \overline{X}(1)$ . Therefore we have the coupled system  
 $\int \overline{X}''(x) + \lambda \overline{X}(x) = 0$ ,  $\overline{X}'(0) = 0$ ,  $\overline{X}(1) = 0$ ,

$$\begin{cases} \mathbf{X}''(\mathbf{x}) + \lambda \mathbf{X}(\mathbf{x}) = 0, \\ \mathbf{T}'(\mathbf{t}) + \lambda \mathbf{T}(\mathbf{t}) = 0. \end{cases}$$

9

5

(b) The t-equation is 
$$T_n(t) + \lambda_n T_n(t) = 0 \Rightarrow T_n'(t) + \left(\frac{(2n-1)\pi}{2}\right)^2 T_n(t) = 0$$
  

$$\Rightarrow T_n(t) = e \qquad (up to a constant factor) for  $n = 1, 2, 3, ...$ 
Therefore  $u_n(x,t) = \overline{X}_n(x)T_n(t) = \frac{\cos\left(\frac{(2n-1)\pi x}{2}\right)e}{(n=1,2,3,...)}e^{-\frac{((2n-1)\pi x^2}{2}t)} = \frac{(n=1,2,3,...)}{(n=1,2,3,...)}$ 
solves the homogeneous portion of the problem. The superposition principle implies that  $u(x,t) = \sum_{n=1}^{N} C_n \cos\left(\frac{(2n-1)\pi x}{2}\right)e^{-\frac{((2n-1)\pi x^2}{2}t)}e^{-\frac{((2n-1)\pi x^2}{2}t)}e^{-\frac{(2n-1)\pi x^2}{2}t}e^{-\frac{(2n-1)\pi x^2}{2}t}e^{-\frac{(2n-1)$$$

.

polices the homosphere of the problem for each integer 
$$N \ge 1$$
 and all contraines  
 $c_1, ..., c_N$ . We want  
 $3c_1(T\times) = 2c_2(5T\times)$ 

$$3\cos\left(\frac{\pi x}{2}\right) - 2\cos\left(\frac{5\pi x}{2}\right) = u(x, o) = \sum_{n=1}^{\infty} C\cos\left(\frac{(2n-1)\pi x}{2}\right)$$

for all 
$$0 \le x \le 1$$
. By inspection, we may take  $N = 3$  and  $c_1 = 3$ ,  $c_2 = 0$ ,  $c_3 = -2$ .  
Consequently, a solution to the entire problem is
$$u(x,t) = 3\cos(\frac{\pi x}{2})e^{-\frac{\pi^2 t}{4}} - 2\cos(\frac{5\pi x}{2})e^{-\frac{\pi^2 t}{4}}.$$

$$\frac{BONUS}{2} \qquad \begin{array}{l} \underset{(x,t) \to v(x,t)}{BONUS} & \underset{(x,t) \to v(x,t)}{Bonus} &$$

$$\begin{array}{l} & AO \quad \frac{dE}{dt} = \frac{d}{dt} \int_{0}^{1} w^{2}(x,t) dx = \int_{0}^{1} \frac{2}{2t} \left( w^{2}(x,t) \right) dx = \int_{0}^{1} 2w(x,t) w_{t}(x,t) dx = \\ \int_{0}^{1} \frac{dV}{2w(x,t)} \frac{dV}{w_{x}(x,t) dx} = 2w(x,t) w_{x}(x,t) \bigg|_{1}^{1} - 2 \int_{0}^{1} w_{x}^{2}(x,t) dx = \\ 2 w(x,t) w_{x}(1,t) - 2 w(0,t) w_{x}(b,t) - 2 \int_{0}^{0} w_{x}^{2}(x,t) dx = -2 \int_{0}^{1} w_{x}^{2}(x,t) dx \leq 0 \\ \end{array}$$

$$\begin{array}{l} \text{Jhat is, the energy is a decreasing function of t in [0,10]. Therefore \\ O \leq \int_{0}^{1} w^{2}(x,t) dx = E(t) \leq E(0) = \int_{0}^{1} w^{2}(x,0) dx = \int_{0}^{1} 0 dx = 0 \quad \text{for all } 0 \leq t \leq 10, \\ \text{Ro } \int_{0}^{1} w^{2}(x,t) dx \equiv 0 \quad \text{Jhe vanishing theorem then implies } w(x,t) = 0 \\ \text{for all } 0 \leq x \leq 1 \text{ and each fixed } t \in [0,1]. \quad \text{It follows that } v(x,t) = u(x,t) \\ \text{for all } (x,t) \text{ in } \overline{R}; \text{ is. the solution to the problem is unique.} \end{array}$$

•

A Brief Table of Fourier Transforms

 $\hat{f}(\xi) = \frac{1}{\sqrt{2\pi}} \int_{0}^{\infty} f(x) e^{-i\xi x} dx$ f(x)A.  $\begin{cases} 1 & \text{if } -b < x < b, \\ 0 & \text{otherwise.} \end{cases}$  $\frac{2}{\pi} \frac{\sin(b\xi)}{\xi}$  $\frac{e^{-ic\xi} - e^{-id\xi}}{i\xi\sqrt{2\pi}}$ B.  $\begin{cases} 1 & \text{if } c < x < d, \\ 0 & \text{otherwise.} \end{cases}$  $\int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} e^{-a|\xi|}$  $\frac{1}{x^2 + a^2}$  (a > 0) c. D.  $\begin{cases} x & \text{if } 0 < x \leq b, \\ 2b - x & \text{if } b < x < 2b, \\ 0 & \text{otherwise.} \end{cases}$  $\frac{-1+2e^{-ib\xi}-e^{-2ib\xi}}{\xi^2\sqrt{2\pi}}$ E.  $\begin{cases} e^{-ax} & \text{if } x > 0, \\ 0 & \text{otherwise.} \end{cases}$  $\frac{1}{(a + i\xi)\sqrt{2\pi}}$ (a > 0)F.  $\begin{cases} e^{ax} & \text{if } b < x < c, \\ 0 & \text{otherwise.} \end{cases}$  $e^{(a-i\xi)c} - e^{(a-i\xi)b}$  $(a - i\xi)\sqrt{2\pi}$ G.  $\begin{cases} e^{iax} & \text{if } -b < x < b, \\ 0 & \text{otherwise.} \end{cases}$  $\int_{\pi}^{2} \frac{\sin(b(\xi-a))}{\xi}$  $\frac{i}{\sqrt{2\pi}} \frac{e^{ic(a-\xi)} - e^{id(a-\xi)}}{a - \xi}$ H.  $\begin{cases} e^{iax} & \text{if } c < x < d, \\ 0 & \text{otherwise.} \end{cases}$ otherwise.  $\frac{1}{\sqrt{2^2}} e^{-\xi^2/(4a)}$  $e^{-ax^2}$ (a > 0) I.  $\begin{cases} 0 & \text{if } |\xi| \ge a, \\ \sqrt{\pi/2} & \text{if } |\xi| < a. \end{cases}$ J.  $\frac{\sin(ax)}{a}$  (a > 0)

.